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INSTRUCTIONS FOR CANDIDATES

1.The Test Paper contains a Booklet of Questions and an OMR Answer
Sheet. When you are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars carefully with blue/black ball point
pen only.

2. The test is of one and half hours duration and consists of 150 questions.
There is no negative marking.

3. Use Blue / Black Ball Point Pen only for writing particulars on this page /
marking responses in the Answer Sheet.

4. The CODE for this Booklet is B. Make sure that the CODE printed on Side-
2 of the Answer Sheet is the same as that on this booklet. Also ensure that
your Test Booklet No. and Answer Sheet No. are the same. In case of
discrepancy, the candidate should immediately report the matter to the
Invigilator for replacement of both the Test Booklet and the Answer Sheet.

5. This Test Booklet has five Parts, I, Il, Ill, IV and V, consisting of 150
Objective Type Questions, each carrying 1 mark:

Part I: Child Development and Pedagogy (Q. 1 to Q. 30)

Part Il: Language | - (Tamil/Telugu/Malayalam/Kannada/Urdu) (Q. 31 to Q. 60)

Part lll: Language Il-(English) (Q.61 to Q.90)

Part IV: Mathematics and Science (Q. 91 to Q. 150)

OR

Part IV: Social Studies (Q. 91 to Q. 150)

6. Candidates have to choose any ONE language under Part Il Language | in
accordance with their Language | studied in their Degree. In such case the
candidates have to ask for the Question Booklet containing the languages
other than Tamil.  The languages being answered must tally with the
languages opted for in your Application Form.

7. Part IV has options between (a) Mathematics and Science / (b) Social
Studies. Candidates have to either answer (a) Mathematics and Science
OR (b) Social Studies.

7. Rough work should be done only in the space provided in the Test Booklet
for the same.

9. The answers are to be recorded on the OMR Answer Sheet only. Mark your
responses carefully. No whitener is allowed for changing answers.



1.

6.

GYHms GuLTHILD SHLNSS560 (NS EHLD
Child Development and Pedagogy

SerelerIlLOSSID Mlejenrll LsTgsme LTuaLILHSSLeuT
A sieGrTeTe B Lmiefesr C eoLe6ur D umsuGeur

Non Directive councelling was advocated by

A Karl Rogers B Darwin C Taylor D Pavlov
‘&EOTEL ST Q116" 6T6aTm HTensy GlauaflufL e

A eomear GLefl B aflsusdlwuid Gegibsiv

C eleaui(p S&geurt D  #Hsuwevor Nymi)

The book titled ‘Dream Analysis’ was published by

A John Dewey B  William James

C Edward Tichenes D  Sigmund Freud
LoeaTLIGUITTITL_Lig6rfl6oT 616088 61T

A 4 B 2 Cc 3 D 8

Types of Mental Conflicts are
A 4 B 2 C 3 D 8

SMLNSS60160T (LpSev LiigFlemev
A vdih Qs B swri Qsiige C andlgssn D SHLblbhise

First step in Teaching
A Evaluation B Preparation C pursuing D Planning

geummerr Geomgemit GMILSIHS
a) mietoTsoorley Frey Gemgemenr — gueoui HlGer  b) Gumfls Gemgmenr—
Gleusevsui
¢ mr—C.A.x100

M.A.
A a & b aflwmssr allemL B a & c aflwumer elsnL
C c & a aiflwumenr allemL D b w’ (b &ifl

Find the odd pair out
a) 1Q test — Albert benaeb) Verbal test-vexler ¢) I.Q - C.A. x 100

M.A.
A a & b are correct B a & c are correct
C ¢ & a are correct D b alone is correct

&(HemIGe0leTCLTS gy suoflLilmhg GuMiL@GLD &GrTGLrGeLD
AY B X C XY D XX



10.

1.

During fertilization the chromosome received from the male

partner is

AY B X C XY D XX
ietoTemTley SMiThS L6 (Lp&&smsmnfls Camumigsmer ojsTalll SetmsnL&
Sn I euLfl LT ?

A CVAD B CAVD C CDAV D CDVA

Name the test deviced by Thorndike in multiple theory of

Intelligence

A CVAD B CAVD C CDAV D CDVA

ST6U0TL_60—G6VMBIGH60 6TMLIL & SHITIT6TaTLD
A eysmer B pHiEd  C  yevedr 2 mili g6 D SeiLemis6T

Stimulus - response is due to

A Brain B Maturity C Sense organs D Experience
A «—>
B >
GCGev smemid @\ Cam@safley ‘A’ steorm Gam(h B’ sow el Herid @eomhal
Sremld S lulleneor 6T6OTEVITLD
A umisesrLmill Siflys smlé B u®&ms CriCam@m Siflus sm &
C Gaeverriian Hiflys sm gl D (evevri—sowit &iflys s &
A <+“—>
B >

In the above figure the line ‘A’ is perceived to be shorter than the
line ‘B’. This is due to

A Poyendoffs illusion B Horizontal — Vertical line illusion

C Zollener’s illusion @ D Muller-Lyer illusion

GLTLI LI[HaULD 6(Th Sl&aseumeT jemLodlimm Li(heULD 6T60Ts &nnileurt
A Uriggssr B Gsmey C  sumeredl ammed D ellebsdliuid & @60

Adolescence is a period of storm and stress — said by
A Brickson B Cole C Stanley Hall D William Mcdougall

2 160 QEweoumhigsT nmid 2 67& CFLLIT(HNES6T @760l sn6TILLD STTEHS
QEwsLL 2 Sayb (pSE&u mreaTilesrsg syl
A 9w M smod B eogrmih sy
C umymenagrmiih &y D g ifered gyl

The main ductless gland that regulates the physiological and
psychological functioning of a person is




12.

13.

14.

15.

16.

A The pituitary gland B Thyroid gland
C Para thyroid gland D Adrenal gland

HLOLPEOLIL eLpSTensILTseaflLilmhg) QSTLihg) eufl auflurs 2 L e,
o eTUILIGHITLS6T Ll6iT ShSSHS(EHES) alsaTs6flsir pLPsULITS: 61(HS6m60

6T60T 9j6mLpSletTGMITLD
A urflewormio eueri &8 B @eumne eTgie|blsvsmev
C 2 ufiflwey womy flemev D 9065 ahsd fHlemev mmmL

The transfer of physiological and genetic characters from
parents to off springs through generations is called

A Evolution B Transfer to neat generation
C Biological heridity D None of the above

(I S @ITL oL ILT&6T G 65,pedlev aueTihsGLITG), @lauTseflnL G

GievoTeurley Frey (1)
A r=0087 B r=00870 C r=087 D r=8.7

The IQ correlation (r) of monozygotic twins, brought up in the
same environment is
A r=0.087 B r=0.0870 C r=0.87 D r=8.7

SwrGegullesr gMlsed Smetr eusmi&&uflssr epsormmd Hlemen
A wer& Qaweur’ (Hi&E (phemsiu [Hleme
B &6, L UTiLUmS omeusgdF dibdlsg Gaweu®L Heme
C Qs (h 2_6w07(HLD LI(HeILD
D enwrs Curss Sndss sremsmrmisaflsr gjelinemLuile Giewsiu(pin
Lo6oTTEl6m6V

According to piaget is the 3 stage in the cognitive
growth of an individual

A Pre-operational stage

B Concrete operational stage

C Sensory Motor stage

D Formal operational stage

o I STL& eLpsuld SHMEm6 (LPS6IT (LPS6edled aflemsdliieurt
A B.F. evéleoreori B Guofl seyi Gegmeorsiv  C - umeuGoor D Gasmeort

Learning through insight was first shown by
A B.F. Skinner @B Mary Kavur Jones C Pavlov D Kohler

geum| Gl&inLd rssTalsmenr S(HS5S 6THME)
A S6u0TL M6 B mevaufl s (hase
C uflasst gafls&e D seor(h) Gamsmsmmiosy el (b el

The best way to change the wrong doing of a child is by



A Punishment B Teaching good moral values
C by giving awards D ignoring his behaviour

17.  misvoreoriley (pSIT&S GQuTgiouTs (ppemiol GlLHLD aILS)
A 10-11 B 19-20 C 40-41 D 15-16

Intelligence attains its maximum level at the age of
A 10-11 B 19-20 C 40-41 D 15-16

18. gy &sdmet unnlw WilsrarGam_m Gergemeudlsr (Gomfl mmi
Qomfluileveord GamsemenT) 2 (HLILIG S6IT 6788 6m60T
A 10 B 14 C 12 D 19

State the total number of creativity tests (Verbal + Non verbal) in
Minnesota test of thinking
A 10 B 14 C 12 D 19

19.  oisUssT, UmWseT 9HCWTTS @iueLgmeT ailars ot
A GsLlLe B o&6rs C Qs D wr

Personality traits such as introvertism and extrovertism
personality was explained by
A Cattell B Eysenck C Kemp D Yung

20. gy Ememenw gemail LwsTLGILD L& GlummSsLomsT (pemm
A &wsfleng B &w udilik
C um el GCammLsme D wuwerliumeTsnLy 9j6Te|Game

The most apt method of evaluating a person’s personality is
through

A Autobiography B  Self rating

C Questionnaire D Attitude scale

21. lemss flemev LoeoTid 6T60TM [Hl6M6V 6THS UILIETT(HES THL(HS WS
A 1-3 B 3-6 C 6-9 D 9-12

Super ego stage occurs at the age of
A 1-3 B 3-6 C 6-9 D 9-12

22. yemenv L&Lomssfletr gy Siflur &1 9jere| GCamedlemeT LILETLHISS)
SP&GMILILOu Herer stiustorilsmen gy fwfl_ib gjeraih Glswsmb
A 9 SiflwifleT BLSmS mmID 9 &eLILeoTL|
B g diflwifler ufley mmid ermyy
C oy &flwirfletr @uirki@Ld Lster LHMILD L S0
D @lemel oemersgin

Which of the following can be evaluated using Bruce Tuckman’s
Teacher Feedback form



A Behaviour & Creativity B Warmth & acceptance
C Dymanism & Organised D All the above
demeanor

23. amevsv eTaTLIRITS SDMEL Gl&TeTsmsLilemsar @GS ELD (FHSSITLD WiTg)
A SFR =DRXSHx K -1 B RES=DXSRHxK-I
C SER =XDSRHR xK -1 D SER =DXSHRx K -1

Hull’s theory of learning formulae is
A SER = DRXSHx K -1 B RES=DXSRHxK-1I
C SER =XDSRHRx K -1 D SER =DXSHRxK -1

24. eyemsmuflsy LD HlemsrellnG LS (PSS STTETTLONS @IMkIEGLD
CougIIGlLim (w6
A yersre. B gyiemereg. C Ursi D amGurenaniy Gr

The most potential chemical agent responsible for memory is
A D.N.A. B R.N.A. C Proteins D Carbohydrates

25. &Mev eI 8, Lo6uT aILIG) 7 LOMMILD SIT6V AILIG| 7, LO6TT eULLIG| 8 2 6TeT
@eueilmeurfletr mievTemoTniley] ey WM ?
A 87.5& 114.5 B 85.7 & 141.5
C 8.75&11.45 D 875 & 114

The Chronological age of one child is 8, Mental age is 7 and
another child is with C.A. 7 & M.A. 8, find out their 1.Q. Level.
A 87.5& 114.5 B 85.7 & 141.5

C 8.75&11.45 D 875 & 114

26. anflsdl eTeoTLieuT 1909 gy1d oy etoT(H HMIEIL GUHEMSSET 2 6T B L(HSGI6!
af(h&) 6T I|emLomGl6TeTE)
A geuderedur B @idur C FserGesr D saudl 9Gmilwr

In which country was the Juvenile psychopathic Institute
established in the year 1909
A Australia B India C Chicago D Saudi Arabia

27. seuam aiFma 9SS 2 S &([medl

A  SmeLmenCaL B Spaimrs Comgmen &meall

C Lrélev LmsvGamL D flemeurey, 2 memer &(meail

The device used to measure the span of attention is

A Kaliedascope B Mirror drawing apparatus
C Tachistascope D  Memory drum apparatus

28. gmuil sr&Ger eTeTLIITS) SnDmILILily SHMEV 6T6ITLIG
Ligflemeugssmer GlameuoTL_g|
A 5 B 7 Cc 8 D 6




Robert Gagne’s theory of Hierarchial learning includes
types of learning
A 5 B 7 C 8 D 6

29. Hememellstr (Lp&SIL @ITetoT(h 6L6MESS6T
A STM&LTM B ATM & GTM C LTM & ATM D ATM & STM

The two types of memory are
A STM&LTM B ATM & GTM C LTM & ATM D ATM & STM

30. VIBGYOR sretruig STOTLISNE (1 FIMbS 6T(HSSISSTL(h
A &g snme B Hoeare| thsHrmsst  C eraflu &mmey D Glomsarssei

VIBGYOR is a good example of
A abbrevation B Mnemonics C easylearning D monics

ii. | Language I — gl - Tamil

&1 2 6mam LSSlemLL Lig &1 1 (S6L 3 susniy 2_eitem allammésEh& G allmLweflss.

SUIPET 160 &mS STSHNG WPeTerCr aNumSsT eUEmILULILLL 6T, SITLD
ouemIhg  elunismer (Sl SeorGlemrss  6TeTem  aupmiSleTi. Sl
PesHuSHN TS TaTuSNE el farmid GuTmeT o 6Targl. CHT&GSHT(),
CamemrsGar(), ausmarGarh Gamer® eusmmuinl L ellukigst Cam GLrallwumigsT
steoTLILHID.  geefliurs6r  eTevoremTmS6afletT  6T(NEFSemIL Ly eusToTeTOTRISAfl6IT  S5lemeoT
Oametor(h)  6TGIGCMTTS60l6T SetoTeonieT eflemesT@hT  6TaTULL L 6oTT. 9y 600T 6@l
‘FEsrmhisSe sera|n, Cusr eailur ‘F&SrGasrT’ saraih amypsaiiL(bheur.

31. susmerGam(ser Gamesor( eusmmLLLI(hlag)
A TS gedwid B Gam GLmeaflwuid
C yemeomum gl D umeme geilii

32. ‘sevorem6T eflemeuT(EhIT sTETMEMLE SLILIBILISUIT
A yeveurr B um_a&i
C BILIpW&STTT D eeflwir

33. ‘Guetr eiliuTseT” @lsueumm| emLSSLILIbHIeUT
A &58rGaerm B &lgdlrmmisgeor
C dlsdmiumemel D d&sdlrsasmyi yedl



34. ‘Bhguiled & sl LMy b Hlom 6T6aTm) WITT LITeHITLI LITlg 63TTIT
A unrdsraeT Lurylemi B umrdl urrélsmesnet
C oumemflgmassr LmylemiL D unrd) sumstsilgmeenest

35. Wetreu(meuemeumley sfliwme euflemasms Coiia) C&iis.
A Gueng, LHins, LWL Hms, GLgLmL
B Gueng, LLkeng, GUgILoeL, Lok
C Gueng, QuUgILDenL, LOMmIENS, LOLHDd
D Gueng, whisms, GUgbemL, LLHamg

36. g6 SevevemmuiledT LS, ‘S6Tem6DT 63(h SLAILD LOTETOTELET 66T 6T(LNSHE
G\&meoTesTEUIT
A sr(h6a B effomyellan C glw. Guri D wGresflev umydlwm

37. sousSSer 2 nIILSsT
A 10 B 14 Cc 8 D 18

38. ‘BlypusssT STUINIID sTeTmn mPSSUILIHLD KT
A deoludsmrn B wefltusme C Fousdhgmosnll D sausmarurud

39. ‘Hmis LSS’ SetTess0s GlsmetTL K6
A W&@smsTarmuilyd B gI0wmfls smepd
C ILES6L LSS D udnmiusg

40. sroRsIHS CLIWGTEFSD
A ellemeTpmm B Qs LerdliineammiieuuGr&ain
C dlmargosmms D rmoslL adlinammaismearGiugsin

4. ‘@enswpg)’ 6T EHTeme @ummiiert
A umdumi B umrdlanger C s sellgpi D &rsm

42. “STeurd eUMRISIL & &nel(heumedr
&(m6ug GLosveTsarl GLF(heumedT” — eTeaTenILd uIflgemaTLI Liig WieuIT
A &eflweosf] B mTusse sellehi
C urlé&ls sellep D 2 cumwnd sellep

43. 6, L, 6T — @IDeLP6TN)] 6T(LNSSISEHLD G LmSifl 6e0lLg)

A whiGsTedl Nemp B s&hdll temip

C sTsgIl Ssnl D eeliyl Nemip
44. ‘gnsg) eafl aerain Smismsuisr gy flwr

A ErEheled HTL6oT B eurGeus. st

C o&nGser. yssysi D &l QFselium

45. ‘mmerCammid 2 L Huulndl Qe eTerLg) eTeuames QemLiT
A SLLemems Qi B GQ&ids Qemi
C o eui&dls Qemi D eoLemuri®s Qg



46. (g0 upsuefl [T

A urseusmSLI LiFsuof] B @rswflweismsl) Lysuof]
C &hs&g I ILieuf D s&swrslursf]
47. ‘Seorssail Seusld’ sreorm| HTLD WTenrs @GMILSIH'S G
A 2 (Dsmev mrymiLsseT Sl B  &.wm ursu& i firoeosflii
C Il mssns D unmupTad e
48. (P&STed QUL Il
A @mery B gjsmeuy C &gy D  Glmigsuig
49. udGletretor SLP&&6mTS G LTS 60 2 66T LMETe
A ([@edTeoTIT HTHLSG) B sereufl mrmus)
C @eflusmel BTHUS) D & Brhus)
50. ‘cgemmineunil’ eTeoTemId Medleor oy Sl
A Quwri Gsifliuailssmeo B BTs@Ssermt
C Gomurbomfls Caeurr D &m5555050

51. QuiflwyrremrsSneG Casdlpmt @I L @i
A Hms0sm & Cgmms B Ga&dlpmi yymerid
C Hms0smeri Smarmnsrs D &Sms0smssorLir Ymerid

52. ‘sl Uss58!
A Qsmfleorg Guwr B @ eumg Gluwir
C #&lemeorium@ Gt D smeeaur@ Guwim

53. TL(H50BTms Brevseafls) 9|5 (L, UnLD SHobhE HIT6y
A Orhresrms B udnniuss C  uflumis D ©nnbsrms

54. ‘orgetT’ 6TEITLING ‘S|6DTE6I 6T63TN)| Sn M)I61S)
A ©)60E8600T (LML LIS B wep2
C Bewsseumr Guredl D QL &&rL 5860

55. ‘GumetTenaid’ eTeorm SFlmisemnguileor oy Sl
A QesThger B ysgienwiiigger
C Wrughasr D @.ur. preyGasmumeusst

56. ‘sLilp BrLsl GuyTEfiwrr sTarmenpssUiLIbhiLeT
A SRISTST6V SeumLilger B Gurnilepi ojevoresorm
C oyi.erev. nGeormait D LIDL6Y SDLIGS (Lp&edlum

57. usGURSIL uvaiT 9 5SS asTaTe
A  shSITem aeursd B &Ll eueTersy

C &55and D umfl

58. ‘smILIL| LIV &6 6TEITLIS



A wrys saflems B omanss C ussselms D elwaorss.

59. ‘smeuged Sngl” LMg Lo

A O|6U0T6UOTITLOEMEVLLITTT B warseil umrdwmt
C  OTEEhS6uoT(LNSEuTTIT D omemrdfimrsi
60. 6ueTITEUOTLD SETEUMLIG) SiflSEI6u0T(HS6TTEL RllgaLD RIMTEUS)
A ellgemaLl Leens B yemeorum eedliuid
C alymad Qg D (&6 6UmTSSLD
iii. Symidlein — English

61. Choose the correct phrase to fill in the blank in the
sentence.
She living in Chennai since 1989.

A have been B hadbeen C have being D has been

Fill in the blank with correct Homophone.

62. I thought it might

A reign B rein C ruin D rain

63. Change the given verb into noun form : Imagine

A imagination B imagined C imaginative D imaginary

In each of the following sentences, an idiomatic expression or a
proverb is highlighted select the alternative which best describes
its use in the sentence.

64. The police will leave no stone unturned to discover the murderer

A turn every stone B investigate thoroughly
C make no excuse D be indifferent

65. The concert was brought to a close with a display of fire works

A concluded B interrupted C announced D cancelled

In the following passage, there are blanks each of which has been
numbered. Against each number, four words are suggested find

out the appropriate word in each case



A rich land owner was on his deathbed, gasping for breath. He
told his three sons to dig under his bed when he was gone, and he
died. Some days later, the sons dug at the spot and unearthed three
pots, (66) one above the other. The first pot contained mud, the middle
contained dried cow dung and the (67) pot contained straw. Below this
pot there was a silver coin. The brothers were puzzled. “Obviously,
father meant to (68) some message to us through the pots and their
contents, said the eldest brother. They (69) for a while but (70) of them
could come up with an explanation.

Finally they decided to (71) their doctor, who was also a family
friend. The doctor laughed when he, heard about their problem. ‘Your
father loved puzzles,” he said, ‘The interpretation is simple. The
topmost pot contains mud you say, that (72) he wants his eldest son
to have his fields. The second pot contains cow dung. It means he
wants his second son to have his (73) of cattle. The last pot contains
straw. Straw is golden coloured that means he wants his youngest so
to have all his gold.”’ The brothers were happy with the way their father
had divided his wealth and appreciated the doctor’s (74).

‘The silver coin at the bottom of the pots? What does it mean?’
asked the youngest brother. Your father knew you would come to

consult me,’ smiled the doctor, ‘The coin is my (75).

66. A only B stand C stood D placed
67. A least B lowest C less D deep
68. A tell B request C order D teach
69. A think B thought C relaxed D taught
70. A one B either C some D none
71. A go B told C consult D take

72. A meaning B telling C suggesting D means



73. A herd B flock C gathering D school

74. A effort B wisdom C brilliant D wit

75. A friendship B pot C fee D keep

Rearrange the following sentences in proper sequence to form a

meaningful paragraph, and answer the given questions.

A) The farmer called his neighbours and asked them to help him
put mud into the well but the mule thought that he was calling
the neighbours to help him get out of the well.

B) A farmer wanted to get rid of his old mule and buy a new one
but the mule always came back from wherever the farmer left
him.

C) He walked away from his cruel master and never returned.

D) One day the mule fell into the well and the farmer thought, ‘Why
not bury it there so that I don’t have to worry about getting rid
of it?’

E) The mule started shaking off all the mud that fell on him and
kept climbing on the leap of mud as it fell into the well, soon he
was on top of the mud heap and he easily got out of the well.

F) When they started putting mud in the well the mule realized his

master’s plan and started thinking of ways to say himself.

Choose the correct order of the sentences from the list given
below:
76)

A ABDCEF B BDAFEC C DFEABC D BDEFC

In each sentence below one word has been underlined. Of the four

words suggested under each sentence, one can replace the



underlined word without changing the meaning of the sentence.
Find out the appropriate word in each case.
77. It was a useless attempt on her part to participate in the

competition.

A fruitful B future C last D futile

78. He is reluctant to ask for permission o leave early.

A unhappy B wungrateful C unwilling D unsatisfied

Choose the word which is most opposite in meaning of the word

given.
79. Polite
A angry B sheepish C offended D rude
80. Reveal
A show B exhibit C conceal D prohibit

81. How many meaningful English words can be formed with the
letters OTE using each letter once?

A none B two C one D three

The following sets of ideas / objects have some common feature /
function. Spot the odd one out

eg: bag, basket, hat, bucket

Ans: hat — the others are used for carrying things.
82)

A Dbite B chew C suck D nibble

83) Choose the appropriate word and fill in the blank

I do not know what my father choose that

particular school

A happened B controlled C asked D made



Read each sentence to find out whether there is any grammatical
error in it. The error, if any, will be in one part of the sentence.

The number of that part is the answer. It there is

84) while he was walking along the road (A) / a speeding car (B) /
knocked down to him (C) / no error (D)

85) Everybody know that his failure can (A) / be attributed to (B) / his
lack of practice (C) / No error (D)

86) Do you wanted to discuss this (A) / project today or can (B) / we

do it tomorrow (C) / no error (D)

87) What animal is found, by taking the fifth letter of the second word,
the ninth letter of the first word, the sixth letter of the fourth word and
the fourth letter of the third word?

PARTICIPATION

SHOULDER

SYMBOLICALLY

SALESMAN

A TOAD B LAMB C BULL D MARE

88) A horse is tied to a 30 feet rope. A haystack lies 40 feet away, but
the horse is able to eat it. How is this possible?

The horse is very smart.

The other end of the rope is not tied to anything.

The distance is not measured correctly.

The wind blew and brought the haystack close to the horse.

gow»

89) In the Active Learning Method (ALM) Mind map is drawn to check
the of the students.

A drawing Skill B writing Skill
C understanding of the content D to while away the time



90) Identify the compound sentence :

A He is too tired to walk

B After he had done the sums he went to bed.

C As she worked hard she completed the work.

D The farmer was old and he could not plough the field himself



iv. (a) Mathematics and Science

91. smSSI L SHems HissorufiiGumi
A umLSH L G peleori B ey g Siflwurssr

C s60al aU6EYIHTE6T D semsvsoLowmifluiser

Curriculum is designed by

A Syllabus Committee B  Class Teachers
C Educational Experts D Headmasters

92. 9l68T6U(HEUETTEUMMIET SMTLIST 6T600T 6T&5 ?

A (7,21) B (3, 15) C (3,5) D (6, 2)

Which one of the following is relatively prime?

A (7,21) B (3, 15) C (3,5) D (6,2)

93. w& iy smevoTs 23+ /5) (V/5-24/3)

A -9 B 12 c -1 D -7
Evaluate (2\/§+ \/g) (\/g- 2\/5)
A -9 B 12 Cc -1 D -7

94.Qarhi&sLUuLL N esorsafled (N>1), sy srevor 1 - 1 LOMN) 6T630T 61T
n

J|ETSHGILD 6R6ITMISH6T 6T65160, N 6TevaTSH6 l6dT FymaFfl.
A 1 B 1 C 1 D 1
1-— n-— n-—
n

n n

Given n numbers (n>1), of which one is 1-l and all others are 1’s.
n

The mean of the n numbers is

A 1 B 1 C 1 D 1
1-— n-— n-—
n

n n

95. gyisHUILLD 1 (PF6L 9 eUEHIT ETILPSLILILL 6T680T I 6MLS6T @\HHS6TT. 66T 3
6T600T QL 6D &6m6T 6T(HSHE em&@ESLd eTetor 280—-& @ 300—-&GL @lemLuSley
@m&s Cousr(hiGlefls SCLp 2 smsmaumnied sTems eT(h&e Geoustor(hiLd.

B

2




Arthi has number cards with numbers 1 to 9, if she wants to
choose three cards to form a number between 280 and 300, then

she has to choose option.
B
3 2
7
D
5 7
2
96.2 @1 = 86X eranflsh, x eir Loy
A -1 B -2 C 2
If 2 @1 = 83 then the value of xis
A -1 B -2 C 2
7 329.728 _ ofle 329728 it AL
0.00297
A 10x B 100x c X
10

Find the value of

329728 . 239.728 _
297 0.00297




A 10x B 100x C X D X
10 100

98. (x-1) steirugl X° + 5X° — x — 5 6ir (1 Smyenwt) sTevf16v, Wopm Smyevoflssir
A (x-1) (x+5) B (x-1)(x-5) C (x+1) (x+5) D (x+1) (x-5)

One of the factors of the expression x°+ 5X* — x — 5 is (x-1). The other
factors are
A (x-1) (xt5) B (x-1)(x-5) C (x+1)(x+5) D (x+1) (x-5)

99. gt miflous s eTsvaTemfl6tr @levSSmISaTlT Sn(HSH60 6. 9|hS sTevoTsvuf160l(HhG) 18—
9 SIS0 @leVSSmIGT @)L LD LommILD 6Teofl6b 9hS 6T6vor.

A 51 B 24 C 33 D 42

Sum of the digits of a two digit number is 6. If 18 is subtracted
from the number its digits are interchanged. The number is

A 51 B 24 C 33 D 42

100. . “lpenGlevsadhur” eumsd SHMEdEL FTHLIMGILD @ILIEOTEDLIS6T
o L 60T (P& QSTLITLemLILIS).

A GsLlL 60 HmID 6TNSISH60 B Up&S60 LMMID 6T(LHSISHE0
C Gusge LHMID Lig &6 D Guage mmid CaL L e

Dyslexia is associated mainly with difficulties in
A Hearing and Writing B Reading and Writing
C Speaking and Reading D Speaking and Hearing

101) G epstrn) (&Camemmisseaflsr eysitm Camemrmisaflsr & (hae
SL&86TL UMWl gjemalems 2 MHNICHTSEIL LomesaTeeaT

30° + 45° + 105° = 180°
30°+60° + 90° = 180°
45%+ 55" +80° = 180°
U6 S Hi&elemHS “6The @ (p&CaTamrgdls eysry GCamemrmiseflsr
&n (560

180° 6760 (Dl QUGS QUMHEMTET. @5 SHHMED (LPEDMILITETS.
A UGl (peom B Q&g snmed pemm
C alldlaum peom D eldallerés (psom
A Student observes the angles of any three triangles as follows.

300+ 450+ 1050 = 1800
300+ 600+ 900 =180°
450+ 550+ 800 = 18009



He concludes that “Sum of three angles of any triangle is 1800".
This method of learning is
A Analytical B Learning by doing
C Inductive D Deductive

102) 500 G&..f. + 50 L + 5 &l =

A 500 . B 5551f C 50558 D 551f

500 cm + 50 m + 5 km-
A 500 m B 555 m C 5055 m D 55m

103) 1 Guenrm s saflstr 9|58 aflemev 10 GCueTTssaflsr allhm allsnsu @ FLold
6Teof160 @euTLl  9jeVeuG) B L FH6IHSH60SHE SHITewors:.

A 11% B 1% C 21% D 10%

The cost price of 11 pens is equal to the selling price of 10 pens.
Find the loss or gain percent.

A 11% B 1% C 21% D 10%
104) CAI 61 Liwesrum(h)
A &NUSSNSESTS B aflsmn_ QsN&sns
C seflpur sNNSSNSSTS D Q&wedmer Gobum’lem&Ts
CAl is used for
A Instructional purpose B Guidance purpose

C Individualized Instructions D Performance appraisal

105) (5,LP6MEV EMSILIT(EHLD Slmement LomeuuTaUTSaflemL iU aIeTT&GLD (Lpsmm

A afiflejor weom B sursummm) (Lpsmm
C Syliieus (emm D ellflaysor wpmid GelgisT Gl wemm

The method that helps in developing manipulative skills among
the students is

A Lecture method B historical method

C Laboratory method D Lecture cum demonstration method

106) 6(1h LomemoTeuedT -5 -3 = 8 eTetTm SHemTSHS (HIMaIT. LemLp
sTOL(DEUSMETEIT SHITT6TOTLD.

A yusseflsr Qumssmel DL SHSS I|eEISES UTUTS ST
B 9susmienL i seerLileiTemLolime

C usseflsr swi Lsmell Uil &HSSI IeImIsHE UfiLrsgTe

D @Gy wrdfl sans@safle 9eumisE Luling CamailiLbhaisme



A student solves -5 -3 = 8. The reason for the error is
A He has understood the concept of multiplication of integers.
B He is careless.

C He is not clear about the concept of addition of Integers.
D He needs to practice solving problems of similar type.

107) 120 ussnsmMaTs GameaL 6 UsS55550, eelbleurm u&ssSElmIn
45 euflgem 2 eterer. @@ USSSHNG 24 euflEst WIEWL  G@HHSTE
USSS S50 USSMISET [@)(5&@L
A 150 B 165 C 275 D 225

In a book there are 120 pages with 45 lines in each page. If the
number of lines in a page are reduced to 24, the total number of
pages will be

A 150 B 165 C 275 D 225

108) (1 usssflwmen em,.11,250—e 2588 Ggmenswurs GunEnmsr. @5
SjeurfletT gy e0r(H u(HLTETSSI 15% 6Tevflsd eurflsar Loms eu(mHLomeoTLD.

A en. 75000 B 57250  C em5.6250 D 56000

An employee gets Rs.11250 as bonus. If this amount is 15% of his
annual income, then the monthly income of the employee is
A Rs. 75000 B Rs.7250 C Rs.6250 D Rs.6000

109) R GammaussT gl Gully 10%, 20% op&iu QSTLIT SeTEmnLig &6
QarhssLier em.5760 &@ allhsiLbh&sarmg) sTefle @ser GNiss allsns

6T6oT60T ?
A em. 6000 B 58000 C o5 7000 D e 5000

A television set was sold for Rs.5760 after giving successive
discounts of 10% and 20% respectively. What is the marked
price?

A Rs. 6000 B Rs.8000 C Rs.7000 D Rs.5000

110) wrmsrio ABCD eor umiiy

A 65 Q.2 B 56 Q&> C 150 Qa.s? D 90 Q&.f>

Area of the quadrilateral ABCD is



A 65 cm? B 56 cm? C 150cm? D 90cm?
111) (I HeTSHMS SiLomeflLgnamer gjeliLmL & sl Hiiur(
A 1yerefl B 3 uysmeflser C 2uyereflser

D Gri&Gsriigssnwns 3 yereflgsT

The necessary condition for the determination of a plane is
A One point B Three points C Two points
D Three non-collinear points

112) afl&lau(m (LPemm 6TEITLIS.

ueGeun) eT(HSSISST(haefledlmhg Gumg) ald

&G — SMHMEL (LPemm

GY SHVE Yo

&L Gurmefledmrg umUGLTmamear Crr&HE ClasaIge

gaow»>

Induction method is

A From various examples to general concepts.
B Self learning method

C Group learning method

D Moving from abstract to concrete

113) @ oL augailrer smbly soifuller gumb 35 &b @& e
FGITLOTS EUEMETSHSLILILLITE), YIEFSFSITSHET LSS IeTe

A 220 Q&.Lb. B 55 Gl&.Lf. C 35 Q&.Lb. D 70 Qa&.f.

A copper wire is in the form of a circle with radius 35cm. Ifitis
bent into a square then the side of the square will be

A 220 cm B 55cm C 35cm D 70 cm

114) &600118 QY II6|S S L SST60 TMLIHILD HEITEmLD

umL& @iy swrflé@L e aueri&ms)

SNISS60 2 LT SWMSHs 2 Saflng)

Smerrsemer L lgledlL 2 &6jSng

STLSNCUTmLSST  epeuld  SHUSTD  SOMeL  Gummer  HeonEssTs
aflemaIG S

OO w>



Use of mathematics laboratory is

A Develops the ability to prepare notes of lesson
B Helps to prepare teaching aids
C Helps to list out the competencies
D In it learning becomes meaningful because learning is done by
visual aids
115) 6,6,9,14,8,9,9, 8 setrm elleurmsEpssmear @ Hlame, Wssh
oMb eiFs g Swammler srmeif
A 8.5 B 10.5 C 8.8 D 10.3

The mean of the median, mode and range of the observations 6,
6,9, 14,8,9, 9, 8is

A 8.5 B 10.5 C 8.8 D 10.3

YletTeu(mLd LILLomenT gl 6(h & BILuS e LsuGeum) Gleallammisaflsr &56i55ms6
GMI&EEng. eunemmLl LS8 Slsraimid ellarmssEnms@ allenLweafléseaL.
A -2 e 5@, B — giemflsaner Qaeey, C — Lwemrd Qaeey, D — Galliy

E - of_(h eumLews, F — @a7 QFevea ser

Fram-:‘ -Ct-_l Eat ng}ﬂ Pture

The following diagram represents the percentage various expenditure
of a family . Based on the data answer the following questions.

Family Ewxpeveliture

A — Food, B - Spend on Clothing, C — Conveyance, D — Saving,

E - House Rent, F — Miscellaneous



116) LOTS au(HLOM6TLD erh.3080. Lomg au(mLITaTSSHl0 Cailliiiners
R8ISSLILGID CSTEns sTeLaaTe ?

A 510 B 616 C 620 D 712

The monthly income is Rs.3080. How much amount is spent on

saving per month

A 510 B 616 C 620 D 712

117) UL S&l60 ol (H eumLemasiumey gjeml L L eIl L Gamemorl Liguflesr
6MLOILG GSHTEIITLD 6TEIELETE|

A 560 B 34¢ C 5490 D 369

How many degrees should be there in the central angle of the
sector for House Rent.

A 560 B 340 C 540 D 369

118) WS Tme algaieme JMWSILHSS 2 Sald 2 &hs

S|eIS (Psvm
A  HEsmas &0
B eallflaor wpemm
C  uBGsHHM Flg 560
D Qsmfled B LGSler epeuld Cl&iiig) ST L e

A suitable approach to introduce coordinate Geometry is

A Solving Problems

B Lecture Method

C Role Play

D Demonstration using technology integration

119) 20 erevor&efleor sqmaf] 59 eTeirss. eeubGleUT(T, sTeRTEINIL GBI 3—n&

&L lg6uTTe0 SHlemL_&@LD sTevorSerfleor Fymaifl.

A 56 B 62 cC 177 D 196

The mean of 20 Number is 59. It 3 is added to each number the
new mean will be

A 56 B 62 C 177 D 196

120) SLp& a6t eumled 678 &ifl ?
A 9+3x2-4+2=10 B 6+4=:2-1=4
C 4x3+4+2=14 D 27 +3-2x3=21
Which is correct?
A 9+3x2-4+2=10 B 6+4=:2-1=4
C 4x3+4+2=14 D 27 +3-2x3=21



121. Sl L Lunismeu @smmur(h sTOLHISD(E STTesrLD
A af5GaTaTD &(HhiGns) B allfisGamend ereus
C afiQevsirdlstr @eadliu Ogmamee] Bemem5EH60 D @lemalemeTSSi

Myopia — defect may arise due to
A The eyeball becoming too small B  Elongation of the
eyeball
C The focal length of the eye lens D  all the above
becoming too long

122. EMENL_TEEIT (5600TIg 63T O|EMIS ST @)enemre| allsmesr
A HyH 2He+on' + gymmeb
B 1H_2¢ H3 He*+2.n'+ ILMHMED
C HZ2H? oHe+ on' + ILMHMED
D HZ4H’ ;He* +2on' + gymmeb

The Fusion reaction in the hydrogen bomb is

A 1Hi;1H3 2He4 + on1 + Energy

B HZpH® ,He*+2,n' + Energy

C 1Hi‘1H2 oHe*+on'+ Energy

D 1H2 +—1H2 2He4+ 20n1 + Energy
123. sliai&dler gjeme] Ieuamed gjemadlLLIL(HLd

A  sdif B QL&ue C llum D  [jmetoTL_s96dT

Radiation Exposure is measured by unit

A ray B Decibel C Fermi D Roentgen
124. &(m sursralliLed 9jeE (AU)

A 1986 x10°f B 28x10%i5/ef C 1496 x10"f D 9467 x10° .5

One Astronomical unit (AU)
A 1986x10°m B 28x10%f/e9 C 1496x10"m D 9.467x10°m

125. LhletTeoT (WSS Geumum_igesr S.1. 9
A &I B Geured_ C gy D &ugd

The S.I. unit of potential difference
A  Ohm B Volt C Ampere D Coulomb

126. SLP&SETL UMI6L 6THS 66ITM)] STVSSHIET (S {606V



A g6 B oefl gueor®  C  mimer D Qrmg

Which one of the following is not a unit of time?
A year B light year C day D second

127. ormiehleoTm LilsargemLuflear @Gmui(

% B __()_ C D

The symbol of variable resistance is

% B __()_ C D

128. mLgl ol lg6) Henl&@L LTmidHene lsrGerm L SHler 9HirGlevesor
A 240 H, B 100 H. C 10H; D 50 H;

Frequency of our household alternating current is

A 240 H, B 100 H, C 10H, D 50H,
129. LLLOUT6h S6uEGI6TTeIT emBLTe6tT
A  Gsailligw smree B 9908l gL smrse
C OsaillLrg samras D Qemaimearsgin

Nitrogen in earth’s soil is
A Saturated Solution B Super Saturated Solution
C Unsaturated Solution D all the above

130. 6C13 ommitd 7N 14 9)6m)|586maT 6TELEUTN)| 3|6MLEES6VITLD
A sGsmumiser B oGsm_mergeir
C oGarGLmIyseT D smiussfleor sgGamGLmiy

The atoms ¢C13 and 7N14 can be described as
A Isobars B Isotones C Isotopes D Isotopes of Carbon

131. SLpS et eummIsT 678 Counm| (6mml eSS )| ?
A Oz B Ho C NHs D H>S0O4

Which one is hetero atomic molecules?
A O B Ho» C NHs; D H>SO4



132. S &600TLQINMIET 6THhS 66T o) &edleCaTmmT &)
A ML TEmeT 5HMeD B 9,56r0leement 6JHmev
C ooanl rmer E6@S60 D TeSLTTeTSHmeT @IL&5E60

Which one is not in oxidation
A Gain of hydrogen B Gain of oxygen

C Loss of hydrogen D Loss of electrons
133. @Irsssder pH waliy
A 6 B 84 C 7.4 D 5.5

The pH value of blood is

A 6 B 84 C 74 D 5.5
134. fidy G sumyefsor Geudlufiisd Glunwrt
A BT g &eman(h B &meodub g6
C smedlun g sHme D BLI6 oL ) Seme(h

The chemical name of laughing gas is

A nitrous oxide B calcium sulphate
C calcium oxide D nitrous dioxide
135. 2 Geurasl) GLITedl& &) 2 STemrLd

A Udermigerd B Gerorefwn C  &rmeoul D Geuerefl

Example of Metalloids
A Platinum B Germanium C Graphite D Silver

136. Usi& Q&8 EnsE ThisgISsT 6
A G@meo B Grmegr C (peremmid) D Geuby

Example for shrubs

A Paddy B Rose C Radish D Neem
137. oo i eumpeeTeumMiname 6T(HSSISSTL(H
A &SN B eoueen C Lmsiv D Uy

Example for Bryophytes
A Cycas B Pinus C Moss D Grass

138. urflsemer GMs5s Mladied
A  ursleflums)l B 2redwe C Qg D eussTes)

The study of algae is called



A Bacteriology B Physiology C Cytology D Phycology

139. Qmr&Ss6lsr GLTS) sum Geusfliuréma)
A g&adlmer B eplrmer  C o sriusmenL gusmen® D @Garmiflear

The Gas liberated during fermentation is
A Oxygen B Nitrogen C Carbon dioxide D Chlorine

140. sparfluflear grevor(HSaISHS) THMEUTN) STEUT LTSSHSNE THLIGBILD jenae]
A egeflEmiuemgs] B yellemiusnsey
C Gadlsmiuemse D Fiemiusmeas]

The movement of a plant part in response to light is called
A Phototropism B Geotropism
C Chemotropism D Hydrotropism

141. 9jiflev LEMLD 2 (HEUTS:S STITEUTLOTGIT UL 678 ?
A  g&algmer B eplpi gusmeuh  C @Garmflear D emamiyeger

Which gas causes Acid Rain?

A Oxygen B Nitrous Oxide C Chlorine D Hydrogen
142. iBiflétr epeuid SeuflEEmHLd aSlemS & EMHLD LTRISNISES THSSISSTLH
A Sjeueor B Qgermer  C uer D &55if
L 2) J) 4)
Example of Fruits and seeds dispersed by water.
A Bean B Coconut C Jack D Brinjal
143. aflouraiE GlFsuseafled Ll (HGL SresrliL(Ld Glge 2 miLy

A Huyseflusv B femmevwngeie) C feurGemn D G&er CrmGemd

Which cell organell is found only in animal cell?
A Nucleus B Plasmamembrane C Ribosome D Centrosome

144, urslefiureney gjerell(hid oG
A &nmb B WL C Geurresflwm D 6mL&IymeoT
Bacteria are measured in Unit
A Gram B Meter C Vernier D Micron
145. eLAGWT urSLefumafer ol aLD
A smeoystsfl B &(mer C &5l D Gsmsmo

The shape of Vibrio Bacteria is

A Comma B Spiral C Rod D Spherical



146. @eumnfled emeursv Grm 6T ?

A GuredlGwr B G@LlLemev C QgmepGmmi D wGeuflwm
Which one is viral disease?

A Polio B Tetanus C Leprosy D Malaria

147. LoyLlwedlerT SHemg

A &ngliCsasr B Oweored C Gevssorl sl sorearm D - eTLof&eor

Father of genetics
A Chandrasekar B Mendel C Landstenner D Emerson

148. GL(mrRIGLedleT Hermid
A 2.0 B 3uiiLr C 15 D 6L

Length of large intestine
A 2 meter B 3 meter C 1.5 meter D 6 meter

149. Caeofl euaTiiiL& G 2 &hs @)L
A elev @emrgsr B erfleiv yGermilwim
C ollevv LmiGaLmr D epileiv GlosvedlGlum

Best Breed for Apiculture
A Apis indica B Apis florea
C Apis dorsata D Apis mellifera

150. ubSIILT Gl LymisTallsr @)mfLb
A GRS B &iwpmiLasr  C gevevmd D Gayemm

Bandhipur National Park is in
A Gujarat B Karnataka C Assam D Kerala



iv. (b) Social Science

TET wréfl efleormggnst / TET Model Question Paper
geups gjlafliied
Social Science
gmerr — 11
Paper - 11

91. eyl Br&feESS CLHRIGETLD @)(HHSS! 6T6TLI 2 60T S50
A Bifler (pSSHuSgiein
B Bfler yeflgssetmento
C Hifleor Gaubly
D Bifleor Lwestum(®

The significance of the presence of ‘Great bath’ in Harappan
Civilization

Importance of water

Holiness of water

Water Harvest

Utility of water

oow»

92. 2 &GGIWL il&E GgmsrenwmeTtger auremmHmMlEhTSHaTT &[HSLILGG]
TG ?

Shmsg snilaaf]

oS LmeSES gndHlasTsT LG

auLGLm@ @iéug Funleerf]

@ndwrailer oL Sp&eE LGS

gow»

Which is considered as the most ancient part of the world by
historians?
A Gangetic Valley
B Southern part of Vindhya Mountain
C North Western Indian Valley
D North Eastern part of India

93. Goug &mev Glusuar &6llEhTaH6T
A Yrarud), afsaiud ssomeorm
B flessm, umep&medl, Sieuresorm
C o&id, omwserul, eemsme
D ojuer, Garem, Georupsmm

The Female poets of Vedic period
Prajapathi, Viswapathi, Sadamana
Niska, Panjali, Swarna

Garki, Maithreyi, Avvai

Abala, Kosa, Lobamudra

gow>



94. Querss gimellseflsr allemrmiser WiGhs Lomflsuld
A sipmLsd B dsmr  C amissn® D el

The State that comprises more number of Buddhist Viharas is
A Karnataka B Bihar C Jharkhand D Oddisa

95. s dITGLS Gsmiflflsor gy1” &6 sTeuld

A &ly.298-273 B &l.@. 324-299

C &lup. 261-236 D &l.up. 280-255
The reign of Chandragupta Mauriya

A B.C. 298-273 B B.C. 324-299

C B.C.261-236 D B.C. 280-255

96. Symeuevd) eTeaTLIG)
A 1S B Gousmme C B&ID D Gamelle

‘Siravasthi’ means

A River B Holy book C Town D Temple

97. amiegr eu_Glomfluiled sTupdlu mireo
A &Grmevdl B siwelswd C ysimmiesn D rsermeusl
The book written by Harsha in Sanskrit

A Karosthi B Dharma Vijayam
C Mudraratshasam D Ratnavali

98. fl—W,—&) ETETEILD KT Sn MIEUS
A emiegfler fifaursi B Guerss gL
C eamiegrfler LsmL GGy D BITHST LIVSmESSLSHLD

The book ‘Si-Yu-Ki’is on
A Administration of Harsha B Buddhism

C Conquests of Harsha D Nalanda University

99. 59 OCanT Camallsnas s lglLIeTs 6T

A snGserssT B @nreysslniser
C QssrameTs6T D uviydlamyigst

‘Khajuraho’ temple was built by
A Sandelas B Rajputs C Chauhans D Prathiharas



100. Qammigmer LsreT aflegamieIT 6T, Hemekgenr Cargalt sTerm
G580 @hg) il G o
A eamias B Geaudlfl C Qamd D geunmswsdno

Vishnuvardhana, the Hoysala king, who shifted his capital from
Sosaveer to

A Warangal B Devagiri C Venki D Dwara Samudra

101. soidGlumearenTmed Flemev Gl semevemin YlpsLLOSSILaITSST
A U66UGUITE6T B Unameull LIsbsueTE6T
C Gamyprigsr D Unsres Gamyprigst

Iconography was introduced by
A Pallavas B Later Pallavas
C Cholas D Later Cholas

102. WsLg) sdlefluilsr 17 uemL Guu@liysemsTl Lnlé @GmBINNHLD
sursummml 9y, St
A &Ii. 8T6dT LoMTeR6V B & &me
C & Gamsarn) eTedlu” D & Gamsirm) Gumi(h

The historian, who mentioned the 17 invasions of Muhamed
Gazani was

A Sir. John Marshal B Sir. Thomas
C Sir. Henry Elliot D Sir. Henry Ford
103. ‘Om&LSOAT” sTeuTLl LSLPUILIL L QTait
A GSUSeT sus B umevLIoT
C @ebuiles D m&mSer
The King who was praised as ‘LakBaksha’
A  Qut-pu-din Ibek B Balban
C Itumish D Nasurudeen

104. ©_6vedl ssvgmaaTSH6T g1 Flulled Gleusfliyme s giemm oysmgsfler Gl
A Hleumesll @learonm B &leumenf] flevmeus
C leumesfl gyisiv D &leurssfl gyin

The name of the Foreign Minister in the Rule of Delhi sultanate
was

A Diwani Inshah B Diwani Rizalat
C Diwani Urs D Diwani Am

105. Sm60&CHTL6mLL1 GUITT HenLGlumm gy svor(h
A &l9.1545 B &Ll 1555 C &.9.1565 D &l 1575

Battle of ‘Talaikottai’ was held in the year
A AD 1545 B AD 1555 C AD 1565 D AD 1575



106. epsTmmeg LmesflL’ GUIT([&@) (Lp6dT Ligh&memL snssLILmm @hSumailesr

L&) Lsu(psmm LsmL bl eurt
A sl Ysibug B (&g Gemfl
C &gl asr Ligmedl D QemmisglL]

The King who invaded India many a times to capture Punjab

before the third Battle of Panipet
A Gazani Mohamud B Mohamud Ghori
C Ahamed Shah Abdali D Auranzeb

107. LTSI 2L 60TLIp 8608 GLomGlamerari L gy euor(h
A &.9.1650 B &.9.1665 C &l19.1660 D &l 1655

Treaty of ‘Purandhar’ was signed in the year
A AD 1650 B AD 1665 C AD 1660 D AD 1655

108. SpmiHlell Gurrsme @hSiumaile Carmmiailésgeaut

A @nmuil &lememey B lgwiGer
C  fiisgmur D & o sl

The person who established British rule in India
A Robert Clive B Duplex
C Mirjafer D Sir. Iyercoot

109. sumestT Gameruigmisny gyt SufeTOum g 9 GLT&SLeor
@memrSsIUl L LuEd

A somisseuer(h B 2 dlrsmer(h
C Grmanlevssesar(h D uGs6 smetr(h
The place annexed with Oudh during the rule of Warren
Hastings
A Jharkhand B Utharkhand
C Rohilkhand D Bundlekhand
0. ‘soLotg,iT Lied)” 6T6aT 6mLSSLILIL L 6uIT
A mansi 96l B &y seogmeor
C &ust 9o D uGss mansit
The person who was named as ‘Tiger of Mysore’
A Hyder Ali B Tippu Sultan
C Sabdar Ali D Fadek Hyder

M. &L 1453 gyib o euoTig 60T (PSEILSGIAILD

A 9LSTEHES Q6T TaIg L EHHITS LUgaNCILnmg)

B QsmsuidLen sL60 LiLemr&mg Gomblg e g

C sImsdlissT srersuLmery CrTilsners smaslLmHLE
D guuruiler uhiGsremes HLhSS)



The importance of the year 1453 AD
Albuequrque who appointed as second Governor
The sea route journey of Columbus
Constantinoble was captured by Turks
The massacre of Ambaina

gow»

2. ngiemr pmusst g Sullsr semLdl gy gwumei
A S(mLme BMUSSIT B ussrm’ &
C  @\rmeoofl LomisLoLomsit D afleeumns HusET

The last ruler of Madurai Nayakas was
A Thirumalai Nayak B Meenakshi

C Rani Mangammal D Viswanatha Nayak

3. LebaITS6T BTG SleT g1 &l Gl
A sl B &gl C umedl D &wevdmsid

The official language of Pallavas is
A Tamil B Grantham C Pali D Sanskrit

4. spsmu psrGearmmsSlsr allsnarlsld
A il B @@uwu C uerefl D &eypsld

The nurturing field of social progress

A House B Family C School D Society
15, @ Slumeilen 2 siremm_ & gysmLolisnLl (P&eTLp&edley sTmLBSSILaIT
A &gt 97y B  ameoflh 19y
C  Mduesr Ny D LeGeamerdl tyy

The local Government in India was initially established by
A Lord Curzon B Lord Canning
C Lord Rippon D Lord Dolhouse

6. sLlpmTL L syisiter oemym & spstrnilirissarflear 6T6vor6unflS6mas
A 370 B 375 C 380 D 385

Total number of Panchayat Unions in Tamil Nadu
A 370 B 375 C 380 D 385

17. orflovrkisarameuuiled Glplrad Semsueurme Hiosertd GlEuiLbio
2 minSeeriigeifletr 6T6vor 6w &M
A 12 B 14 C 16 D 18

The number of persons nominated by President in Rajya Saba
A 12 B 14 C 16 D 18



118. epetr) Lomlevrisafley gemuomgierar wysoflier NTGs&Ln

A 6D, LTo6aTr B &naim prsit snamGelsd)
C &semest D ug&Gse
The Union Territory that is located in three State
A Dieu, Damen B Dadra-Nagar Highvalley
C Chandigar D Puducherry
19. @i Slwumeilsrr Glorgs LrliueTey
A 3287,263 g.4\.5. B 3187,263 &.4\..0.
C 34 88,326 5.5 D 3286, 362 &.5.L0.

The total area of India
A 32 87,263 Sq.Km B 31 87, 263 Sq.Km
C 34 88, 326 Sq.Km D 32 86, 362 Sq.Km

120. Iy flifsooniu SsmLdletr (PS6) sl L SENE SemevsnLn adlS s

A LrsLE G.oyi. ouGusstt B L& §68185TahS Slerasm

C LmsLi Ga.mib. (petad] D LrsLi @orGondly Nrers
The first meeting of constituent Assembly was presided by
A Dr. Ambedkar B Dr. Sachidananda Sinha

C Dr. K.M. Munshi D Dr. Rajendira Prasad

121. gjemeaTau(HEELD Sevell auphiGLD ITdlussnolifer Lifley
A 875543 B &158 44 C 8158145 D 8758 41

The Article which deals with ‘Education for All’
A Article 43 B Article 44 C Article45 D Article 41

122. SIS L1 Glamssor(h) eurliuL o 6o7(h)
A 1927 B 1929 C 1937 D 1939

‘Saradha Act’ was enacted in the year

A 1927 B 1929 C 1937 D 1939
123. 2 608 6UMIE 6TEITLIS)
A IMF B IBRD C ILO D IPU

World Bank means
A IMF B IBRD C ILO D IPU

124. @néwreile g gysrs CualL@LD @ireTLTalg) @S Gl
A omsrten B OgamE C semeorLd D epiflwm



The second Indian language which is widely spoken in India
A Bengali B Telugu C Kannada D Oriya

125. @ngumailsy Ce&u weflg o famwasr gy ememoriuid FHUGSSLUILLL
b ®)
A 1991 B 1992 C 1993 D 1994

In India, the National Human Rights Commission was
established in the year

A 1991 B 1992 C 1993 D 1994

126. Qurmefliuedlesr gjiplILEnL & &nmis 6T
A 2.1usd), Gamfle, aumLomesTid
B 2musd) Qamfle, pisisd
C 2musd, msT&s), udlie]
D 2 musd), udliey, a(mLomerLd

The basic features of Economics are

Production, Labour, Income
Production, Labour, Consumption
Production, Distribution, Consumption
Production, Distribution, Income

ogow»

127. Qummefliuedlesr HHems sTaor emLpssLL(blLeuIT
A QeI LOMT6R6D B gyLib suiflg
C &6 LMT&6MN D Lomsugiren

The Father of Economics

A John Marshall B Adam Smith
C Karl Marx D Malthus
128. LOT6BTL_L_IT 6T60TLIG]
A o Gymomesflu Quetst SLejer B 2 Grmomesfliu o_smre] olema
C Gpmuomssflwu masiyid D 2 Gymomssflu 61W&si (psmm

‘Manatta’ means
A Women Goddess of Romans B Cuisine of Romans
C Town in Rome D Script of Romans

129. tgfllws GhHusSHe &fliuamise e mdle 2 smeard GamsT ?
Ayl B uyser C Gssueumis D Gmliguy e

Which is the nearest planet to the sun in the solar system?
A Earth B Mercury C Mars D Jupiter



130. GrmoetTé QNSL 6 LGS emhgleTsT GILhRIsL 60
A gllemenmes QuEmsLed B @S GQumphis e

C udlis QuEprsL e D osuorLmiles GL(phisL60
Romanche deep sea lies in
A Atlantic Ocean B Indian Ocean
C Pacific Ocean D Antarctic Ocean

131. sLOPHTL g 60 QLomS st Ll
A 130058 &.8.8. B 2,20060 &.&).L8.
C 140078 g.dl.Lb. D 3,60004 &.&\.0

Total area of Tamil Nadu

A 1,30058 Sq.Km B 2,20060 Sq.Km
C 1,40078 Sq.Km D 3,60004 Sq.Km
132. giflurer Game&mears o685 H\&s a0
9))  LAleVLT60— gy60L1610 ) Syr&CasT—g) evSEredium
@) syr-reswr ™) Slré—wsSiu g nflsem
A 9 &0 B @&m C FuLGd D 9wl
Select the correct pairs
a) Mistral-Alps b) Sirocco-Australia
¢) Loo-Russia d) Chinook-Central Africa
A b&c B c&d C Onlyd D Onlya

133. @nslu S L Crr&ms samsHL 2 gl Siés0rms 6The @hau
E&T&S6 auflGE Casdlng) ?
A Qeuiniyi B ellsmslulgernd  C gesmurd D (GIS

The Longitude that determines Indian Standard Time passes
through the city of

A Jaipur B Visakkapattinam C Allahabad D Surat

134. Gleustoremin LyL_&
A ereuoTQlemoril 695 gIS 6T B uy 2 musé
C  ume QumqpLl s D wLleoL mmid GamplliLissorsnsmor

White Revolution

A Oil seeds B Fruit Production
C Milk Products D Egg and Poultry



135. SLP& 6T UMI6L 678 SLISMHLILD
A euderedwur B guumer C mevenhg D Gmfwm

Find out the peninsula from the following

A Australia B Japan C Iceland D Arabia
136. sumsaflemen LOTHMEIS EHSSTeT alaflosT_ 9OHl&E
A Ipu®sE B usLw(h&E
C 9uwefluhss D Geaeflu®hés
The Atmospheric layer of weather changes
A Troposphere B Stratosphere
C Ionosphere D Exosphere

137. 2 qudler Glomge Hleoliminiey epsarniled sp(m LG HlevliLirLisnL
SeTers508 Glamer(herer GIL(HRISL 60

A u&s9s CumrisL 6 B 9 eumetries GL(HRISL 60
C @igwull QumphisL e D Sisles GUmHhISL 6
Which Ocean has one third of land surface in the world
A Pacific Ocean B Atlantic Ocean
C Indian Ocean D Arctic Ocean

138. 2 quéler LlGUGILIfIW B &Fanhd

A GLeflev Bri&smd) B urs fissnd
C GurGym frgsnd D LmiLmi Br&smd)
World’s largest strait
A Davis strait B Palk strait
C Borro strait D Tartar strait

139. I|FsLomer 2 LIS gerenio (Salinity) GsmetorL Bilenev
A smelliLesr sL 6V B  eumeor eyifl
C &M5eLM D ol Lmef

The highest salinity is found in the waterbody
A Caspian sea B Van lake
C Dead sea D Lake of Uttah

140. 801 2 erer HleusCamhmSSen 618 Lissfliummlear Glewsdlsormsy
2 (HEUTEITS 3606V
A U augel LETETSSTEHS B &6
C Oam@L ueTamsaTe S D 6Tgiah @essmev

Which is not the work of the glacier from the following
A U shaped valley B Cirque
C Hanging Valley D None of these



141. 8PS aTam|h UL LD 2 65T S86.8)

e iflear
A & flw Siysemri B QueresorLh
C andlr Syseurid D Jguremeng

The following diagram indicates

(«) © &

A Solar eclipse B Full moon
C Lunar eclipse D New moon
142. LOEMEVS (ETHESITEI 2608 9jemalled eTmmIs GlasmsmemiiL L i
A 1Beud B u&ma C wegpseT D gty

Universally accepted colour for mountain

A Blue B Green C Yellow D Brown
143. eomé& shENT algal ‘LITSTaT—6" STHN ai&in Heng
—>

Y

A 1 B 2 C 3 D 4

On which direction the predominant wind blows in the crescent
shaped Barchan



A 1 B 2 C 3 D 4

144, I|FlsLmer QaiLblene Havad @h& s
A Qeauismeowt B ufsmemst C Uésefi D 9@

Highest temperature is found in India at
A Jaisalmer B Sri Ganganagar C Bikaner D Ajmer

145. 2 (IS gemenenll (Salinity) 9|eTé68 2 sajn &me
A eorGam Bl B Syeoig LI
C Qs MN& B Lr D urGgm L

Salinity is measured by
A Laco meter B Altimeter
C Electric Salinity meter D Barometer

146. 6ThS L FCTemssEmsE @lmLuilsy GLmsigTien gjemdns)
A 30°wmmid 40° 61 & G g e B 35°wmmid 60° eu & Gy 9| &id
C 5°ummid 30° e & Gy Y| &1d D 5°wmmid 50° 6u & G5 9L &Lb

‘Doldrums’ lie roughly between
A  30°and 40° N & S latitude B 35°and 60° N & S latitude

C 5°and 30°N & S latitude D 5°and 50° N & S latitude

147. @Siumaisy maubur (pseo Wiraufl susnr @sfligrel, sgDeir (Lpg v
QElILLbUT 66DIT LOMLPSSTEVLD, GEHTemLS&Teuld sTLIGLITS) ?
A reunfl-Lomrg B 286t &Sulledlmhgi— &6 muir
C wmi&—eDer D Q& bui—lg&urt

In India from Nov to Feb is winter, June to Sep is rainy reason,

when is summer season?
A Feb to March B Middle of June to October

C March to June D Sep to Dec

148. Qi suemrUL. gjeTensusmiu Coih0lSHSSI 6T(LSIS.
A 1:50,000 B 1:00,000 C 1:250,000 D segaib @lsemeo

Choose the largest map scale from the following
A 1:50,000 B 1:00,000 C 1:250,000 D None of these

149. Cr gjeTaysTaT STHMLSSSSemenr Gleer GlaueGoun @)L mismar
@enemrs @D Cambaer
A &2 wursEGsmh B & 9|W5856sm(h
C sulaiusGasm(h D evamgrlim

The lines that adjoin different places with the same pressure



A Contour B Isobar

C Isotherm D Hythergraph
150. HlovausmILL miGemer &L L en& @ Jjnladlisy
A essmGLrdymi B GLmIGur&iymS
C QLGurdymi D LeSludliied

The science of constructing map
A Cartography B Topography
C Demography D Geography



